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NEW QUESTION 1
Given the code fragment:

public static void main(String[] args) {
int ans;

try |
int naum = 10;
int diwv = 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0; // line nl

} catch (Exception e) {
System.out.println("Invalid calculation"):;
}
System.out.println("Answer = " + ans): // line n2
}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {
public static void main{String[] args) {

int ans:
try {
int num = 10;
int div = 0;
ans = num / div;
} catech (ArithmeticException ae) {
ans = 0;

} catch (Exception e) {
1 Svatem.ont.nrintInt"Tnvalid maleulation");
[@variable ans might not have been initialized
o System.out.println{"Answer " 4+ aneg); SfSline n2

}

NEW QUESTION 2
Given the content of three files:

A java.

public class A {
public woid af() {}
int a;

B.java:

public class B |
private int doStuff () {
private int x = 100;
return x++;

C.java:

import java.io.*;
package pl;
class A {
public volid main(String fileName) throws IOException { }
}

Which statement is true?

A. Only the A.Java file compiles successfully.
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B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 3
Given the code fragments:

Person.java:

public class Person {
String name;
int age;

public Person(String n, int a)

name = n;
age = a;

public String getName () {
refturn name;

public int getAge() |
return age;

Test.java:

public static void checkAge (List<Person> list,

for (Person p : list) {
if (predicate.test(p)) {

System.out.println(p.name + " ")

}

public static void main(String[] args) |

Lisgt<Person> 1List = Arrays.asList (new Person("Hank",
new Perzon("Charlie",
new Person("Smith",

//line nl
}

"
L

Which code fragment, when inserted at line n1, enables the code to print Hank?

A

45) ,

checkage (iList, ( ) =-> p. get Age ( ) > 40):;

checkAge (iList, Person p

checkRAge (ilList, p —-> p.getAge

-> p.getage( ) > 40);

checkage (iList, (P=rson p) ->

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
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NEW QUESTION 4

You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.
> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?

A
public abstract class Toy{
public abstract int calculatePrice (Toy t);
publie wvold printTey(Toy t) | /* code goes here */ }
H
B
public abstract class Toy |
public int calculatePrice (Toy t)
public wveid peintToy (Toy t)
H
C
public abstract class Toy |
public int calculatePrice (Toy t);
public final veid printToy (Tov t){ /* code goes here */ |}
i
1]
public abstract class Toy {
public abstract int calculatePrice(Toy t) { /* code goes here */ 3
public absztract weid printTey(Tey t) { /* code goes here */ |
H
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 5
Given the code fragment:

public static woid main (String[] argsa) |
String[] arr = (“Hi”, “How", “Are”, “You");
List<String>» arrlist = new ArrayList<> (Arrays.asli=st (arr);
if (arrList.removeIf((String =) -» (return s.length()}) <= 2;})) {

System.out.println(s + “removed”)”’

}

What is the result?

A. Compilation fails.
B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 6
Given:
public cla=ss Test |
public static voild main(String[] args) |
int = = 1;
int y = 0;
1f (xt++ > ++y) {
System.cut.print ({“Hellec “);
} =2lze |

System.out.print (“Welcome “);
1

System.out.print {("Log ™ + x + Y“:7 + v);

}

What is the result?
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A. Hello Log 1:0
B. Hello Log 2:1
C. Welcome Log 2:1
D. Welcome Log 1:0

Answer: C

NEW QUESTION 7
Given the code fragment:

int x® = 100;

int a = #++;
int b = +4x;
int o = xt++;

int d = {a < kY 72 (a < <) 7 a: (b <c 17 b o ®1;
System.out.println(d) ;

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 8

Given the code fragment:

public static void main(String[] args) {
ntdatal] = 42010; 2013, 2014, 2015; 2D14):
int key = 2014;

int -Gopnt = 0:
for {int e: data) {
if (e 1= key) {

continue;
count++;
}
'
System.out.print (count + " Found");
}
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 9
Given:

public class Test {

public static void main(String[] args)
Test ts = new Test():
System.out.print (1sAvailable + " ")
isAvallable= ts.doStuff():;
System.out.println(isAvailable);

=t

el ]

iy

!

public static boolean doStuff ()
return !isAvailable

}

static boolean isAvailable = tru

11

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: C
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Explanation:

Console 15 * ( : *
true false

Completed with exit code: 0

NEW QUESTION 10
Given the code fragment:

public static void main(String[] args) {
ArraylList<Integer> points = new ArrayList<>():
points.add(l)
points.add(2)
points.add(3)
points.add(4):
points.add(null):
points.remove(l):
points.remove(null) ;
System.out.println(points);

e e

e

}
What is the result?

A NullPointerException is thrown at runtim

1

1, 2, 4, null]
1, 3, 4, null]
1

A.
B.
C.
D.
E.
F. Compilation fails.

Answer: B

NEW QUESTION 10
Given the code fragment:

antn 41 Bl = 481, 3), 42, 4 EL;
for {(int i1 = n.length-1; i >= 0; i——} {
for f{int y = n[il)} {
System.out.print (y}:

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 12
Given:

public class App {
int count;
public static void displayMsg() {

System.out.println("Welcome Visit Count: " + count++):; // line nl
}
public static void main(String([] args) {

App.displayMsg();

displayMsg () // line n2

}

What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line nl.
D. Welcome Visit Count:0Welcome Visit Count: O
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Answer: C

Explanation:

public class App {
int count;
public static woid displayMsgi{}) {
[>:] System.cut.println{ "Welcome Visit Count:
)
public static wvoid main{String[] args} {
App.displayMsqgl);
displayMsgl);
1
]

+ gount ++); //line nl

NEW QUESTION 15
This grid shows the state of a 2D array:

o o

X

The grid is created with this code:

char[][] grid = new char[3][3];
grid[1][1] = “X’;

grid[0] [0] = *0*;

grid[2][0] = “X’;

grid[0][1] = *0';

grid[2][2] = ‘X’;

grid[1][2] = *0';

{f/line ni

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = *X’;
B. grid[3][2] = ‘X’;
C. grid[3][1] = 'X;
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 16
Given:
interface Readable |
public void readBook () ;
public vold setBookMark () ;
I

abstract class Book implements Readable | A b = o
public vold readBook () { 1}
O 8 T G

h

claz=z EBoock extends Book | Ff line n3
public volid readBook () { 1}
// line nd4

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?

= &) Replace the code fragment at line nl with;
class Book implements Readable |

© B) At 1line nZ insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with;
abstract class EBook extends Book |

© D) At 1line n4 insert:
public wvoid setBookMark () { }

A. Option A
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B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 18
Which three statements are true about exception handling? (Choose three.)

A. Only unchecked exceptions can be rethrown.

B. All subclasses of the RuntimeException class are not recoverable.

C. The parameter in a catch block is of Throwable type.

D. All subclasses of the RuntimeException class must be caught or declared to be thrown.
E. All subclasses of the RuntimeException class are unchecked exceptions.

F. All subclasses of the Error class are not recoverable.

Answer: BCD

NEW QUESTION 22

Given the code fragment:

7. 8tringBuilder sbl = new StringBuilder {"Duke") ;
8. 8tring strl = sbl.toString/();

9. // insert code here

10. Svstem.out.print (strl == str2);

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = strl;

B. String str2 = new String(strl);
C. String str2 = sb1. toString();
D. String str2 = "Duke";

Answer: A

NEW QUESTION 26

Given the code fragment:

public static volid main(String[] args) {
String myStr = "Helloc World ";
myStr.trim();
int il = myStr.indexOf ("™ ");
System.out.println({il) ;

}

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 28
Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1;
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 30

What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?
A. Encapsulation

B. Inheritance

C. Abstraction

D. Instantiation

E. Polymorphism

Answer: A

Explanation:
Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 1z0-808 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://lwww.surepassexam.com/1z0-808-exam-dumps.html (223 New Questions)

NEW QUESTION 32
Given the code fragment:

public static wold main(Stringl[] args) |

StringBuilder =k = new StringBuilder ("Java™);

String = = "Java" ;

if (=zb.toString() .equals(s.toString()))
System.out.println("Match 17);
poelze 1f (gb.equalsi(=s)) |
System.out.println("Match 27) ;
Voelze
System.out.println("Noe Match™) ;

}

What is the result?

A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.

Answer: A

NEW QUESTION 37
Given:
class Student |
String name;
public Student (String name) {

this.name = name;

public clas=ss Test |
public static void main(String[] args) |
Student [] =tudsnts = new Student[3]:
students[1l] = new Student (“Richard”™);
studentza[Z2] = new Student (“"Donald®™) ;
for (Studsnt = : atudents) |

System.cut.println (™" + =.name);

}

What is the result?

A. nullRichardDonald

B. RichardDonald

C. Compilation fails.

D. An ArraylndexOutOfBoundsException is thrown at runtime.
E. A NullPointerException is thrown at runtime.

Answer: E

NEW QUESTION 41
Given the code fragment:

3. public static wvoid main(sString[] args) {

s int x = 6;

3, while (isaAwailable(®)} {

6. System.out.print (x);

7.

3. }

9. 1

10.

11. public static boolean isAvailable (int x)
12 return ——-x > 0 2 true :[ false;

13. 1}

Which modification enables the code to print 543217

A. Replace line 6 with System.out.print (--x);

B. At line 7, insert X --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;
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Answer: C

NEW QUESTION 43
Given:
clazs Wehicle |
int =;
Vehicle ()4
thi=(10); // line nl
i
Vehicle (int =)
this.x = x;

}

class Car extends Wehicle |
int v
Cari) {
super () ;
this (20) ; /4 line nZ
H
Cariint w) {
thiz.v = v;
H
public String te String()
return super.x + ":" + this.v;

h
And given the code fragment:
And given the code fragment:

Wehicle v = new Cari);
gystem.out.println (v ;

What is the result?

A. 10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 48
Given the code fragment:
it {avar++ < 100
System.out.println(avar 4+ " Hello Universel™);
Voelze
System.out.println(avar + " Hello World!l™);
1

What is the result if the integer avar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 51

Given:
public cla=zs Zpp |

public static vold main(Stringl[] args) |

int 1 = 10;

int 3 = Z0;

int k =(3 += 1}/ 5;

System.ocut.print{i + ™ : ™ + 5 4+ ™ M + Kk},

}

What is the result?

A.10:30:6
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B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 53
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